HETE BE—RE BRE B=RE BIHRE a&t s
Shn& zone top zone top zone top zone top zone top
EH BE 1 1 1 1 4 4 1 1 4 z 7 4 t 7 2
il EE 1 1 1 1 1 1 1 1 4 z 4 4 t 4 1
M Z KA 1 1 2 2 2 2 0 0 3 z 3 t 5 3
a B 1 1 2 2 9 0 0 0 3 z 12 2 t 3 4
FEE EX 1 1 1 0 0 0 0 0 2 z 2 1 t 1 5
Al AHE 1 1 1 0 0 0 0 0 2 z 2 1 t 1 5
T R B RE F=FRE FEIURE = e
SnE zone top zone top zone top zone top zone top
EEE A 1 1 1 2 1 1 0 0 3 z 3 3 t
F1E &=t 1 1 1 3 1 1 1 3 4 z 4 4 t
HETE iR BB FE=FRE FPUERE &t o
& zone top zone top zone top zone top zone top
g2 0 0 0 0 0 0 0 0 0 z 0 0 t
ZiE LR 0 0 0 0 0 0 0 0 0 z 0 0 t
HE iR F_RE FE=FRE FEIURE = W
Shn&E zone top zone top zone top zone top zone top
T Z= 1 1 2 3 0 0 2 0 z 5 2 t 4
TE T 1 1 2 2 4 6 2 0 z t




